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Math 116 / Final (December 19, 2016)

12. [9 points| Three intervals are given below. In the space next to each interval, write the letter(s)
corresponding to each power series (A)-(I) (below) whose interval of convergence is exactly
that interval. There may be more than one answer for each interval. If there are intervals
below for which none of the power series (A)-(I) converge on that interval, write “NONE” in
the space next to the interval. You do not need to show your work.

a. [3 points] (—2,2) :

b. [3 points] (0,10] :

c. [3 points] [0,00) :

0 m4n+2 x "y (24" X 1\n T — 5"
n=0 n=0 n=1
= o) 2 N
) Y ® 3 Ghye-
n=1 n=0 n=1
© (Lp)n o z—5)" z2n
@ YL Yy o9 UpyE
n=1 n=0 n=0

University of Michigan Department of Mathematics Fall, 2016 Math 116 Exam 3 Problem 12



